’Q ﬂi = 3 — m - i . . —— e— — i,
BEAEBEDPINEFESE —SEHT= B 10908271 Blaga == 1=nlzl~ E = - = TS
Bl##BH|—|Z|=|W| A B B 7 = e /5 (113)RBSE(LF%E &) aynuwe
%(8/28)109-1 BEH [109-1 : 109.8.31-110.1.20 ] (11/4)3B 8 2215 - B 3 s 8 ccdsclioni
£ 5| [ 109 109.8.31-110.1.20 ] E ~HEGEEE 2 [$Fs9m
B CBHAE . B - (8/27)2 RABR(2F)  [Ms/enFERERRE 8183 A {3 s0 )
*?"‘ﬁié%?ﬁﬁi%‘%ﬁ“ EERNERES 1 10 11/1] 2 3 4 5 6 / kG B B2(£¥—TF) - B4(IB{EZTF)
J\| & (23]24125 |26 | 27)|[2g]| 20 [} SE 2 S HEEAE BN (11/2-11/6) BET B L BT 1031y
5 -. e * G- BT S TR
A vy ‘ 16:00) HNLES I5Z ==
* A'Wi ERE ‘ _ : (11/11) 80 &-E XS 4 (112 EX L ER
(8/31)%+ EBHIAR(7:40~8:00) * &% 12:30-12:45 CAFRE + QY1)+ BB Ao B RE R - (11/10) USRI Pk
(8/31- /B IRLRE) S 2 caf - e ot 17 |8[9110]11|12 (13|14 oy e BEmRABEBEs] | W5 HE (%50 )
(8/31-9/11) B4 5 - 2% - B AR ~REREHSRR e () L E R RS B B > ERRN SR L FEAEE
(9/2)t ESERBR (562 ‘8/31‘;/’%4*;'9@“ Wy J\ﬁﬁ’?&?ili‘é%‘qﬂﬁ%?ﬁ(géh DIY - T4 EmIBIRISE EFF DIy
1 |30[310972f 2| 3 | 4|5 [FUECHEREMS *E—RERME - 5 i )1 [ie20 8RB (mERBE] |- 100 TE SRR
SRR RIER A * BB U 12 [15116117118119(20/21}, \yae . pumamawse (5 89 )
(9/4)”&?‘:1:?5[%5% t%ﬁ%ﬁi%#ﬂﬁ%ﬁﬁ L= m— =
- - ' RAC IR (1) (11/25)83 S -2 35 25 - PAE 4 (11/22)/\ B
(9/6)2&5&@!:1:‘ [ EFTEZRE) * PR lHEe 4l b
* FER RIS REB BB e s (11/25) % BT & - A R T8 25 (11/26) 888
*;%éﬁﬁﬁﬂg B ’ *RBRDBICREF 12 |22123|24|25]26]27]28 (11/27)FRZ T mrsay:EEaTHE) MRMETRRES 2 (57 8)
o s = (EBR=X 11/27-11/29] ~(11/25) BREHBHAE 4
(o/7):R & 8 5 pA LA » (S/)VEREDD S 2 - (% 8 7]
(/N AFHENERBERAEE ~EERENRRR _ (12/112/2)% — REa= S (12/2)R D RERNERIH =
il 7 (9/8-9/9) G8-G9 BRRAFIAI B1-B2 ($so) 74 [29]|301211) 2 | 3| 4 | 5 (11/30-12/4) B =B 2iss BB (98]
B B(EY—L) - B3(B{E” L) * ‘ EINEE—REE(5-6 &)
2 1686|7189 |10]11]12 F2ne : (12/4) X
[gsniﬁﬁifiﬁlk P 2 (12/9)iE 8N & 58— RIEH(1-2 &) (12/7) K5
(9/9)*Iﬁg-ﬂﬂﬂmﬂﬁl_ﬂgmgﬁ@@)ﬁﬂﬁzu ><(12/11)7{+EE*§EE§1] > (12/9)BEEFHS 5
(9/7-9/30) 2 iR e BB R R B 5 UL ] 15678910 kY ey ey 0 == e
— o - , — 12 B % it (55 89 8]
[(g/m)gg-igkamgﬂﬁﬁmﬁl i ;f’;fj"i%ff gﬁ?k' X (12/16)58 8 - SCHIES 5 (12/15)2 5
AR AL il 1311411516 |17 (18| 19 [t/ B _Rfrkms (HEBHEEI| |- (12/16) HETE8E
3 |13|14 (1516 |[27]| 1819 X(0/17)R & B ERIBBEBE (19.002030] = |49 PR T 1] MSEEE (% 5.0 8]
e — ) " [(12/23-12/24) G EE W& 5182 2= E
!k9/21)§@iﬁimﬁﬁiﬁiﬁ(1_-¢F9:21] qﬂ):ﬁﬁﬁ!&%ﬁq-.ﬁ,ﬁl;c/z(ﬁ) 17 [20[21122 23|24 25| 26 l12/23)RAEX AT [12:30-14:10 18] [(12/25) e
4 |20{21(22|23]24] 25 |26 [PPAERERE UL s10 mamin) ot M 1= -(12/23) EREHBARE s
(9/23) W9 & -5 HZS - BAME 1 FPSLA W N - (#58]
(9/26)H17 L HE L3R [mAme) ~RRABANRE (%s) (12/30) A2 R EHE  BE (/178 [BB=X 111/3]
(9/28-30) 5 —JIBE A=Y ) (9/28) 16T 8D 18 |27(28|29 (30|31 1/1]1/2 [(12/300% &4 EsmEs: > (12/30)84 %18 AERRF DS .
5 |27)28129|30 [w0/1] 2 | 3 |o/28)2uehanmEsEH (10/1) P8 (2 08.15) - 12/30/BAEXFRE] [13:00-14:50 1S ] ~BNSRY R NERS S
(9/29)HPV B EKEF] N\ ER L - 5 4 &) (ZRIEX 10/1-10/4] (% s-9 &)
(10/5-6)B—WiBE [1H) > (10/7)EREHH = 3 (1/3-1/3)F=FiBE [BHHH) /sy i
(10/7)BH & B STHES 2 ~WAER 1[5 8-9 8) (1/4-1/8)ENRBEREE - (1/6) BRB 5 S 6
6 |4|5]|6]|7]8]|09|10lwnneEsimasm:s (10/8) % 19 (3(4[5|6[7]8]9 |wayem Al RIS A ;;%%ﬂ%ﬁf%%l%ﬁ%
(10/7)10 B ¥4 R R Ef 16 (25 27) (10/ loj%ﬁﬁ llmﬁ)%_;ﬁmggm@ 8.9 &
{10/9)%;@15?1 [i#ER=X 10/9-10/11) (1/6)}352?1%5%*2%%%
(10/13-10/14) 8 — RER & M1/ RS RS 1 (1/12-1/14)BEERIAKRE (5288 - 37 - 3] | (/109548 ‘
7 1112131415161 17 -10/1) REB B =651 of- 1/13) 2P E-RiE—R LiF ~(1/13) BEENEHEE 6
4 ~ ERBISEE T2 (% 8.0 45) | 2010|1112 |13]|14(15]16 (/15)FBERREW .- RE—R L [%;f;yﬁ%ig
(10/21) 89 & 225 IMES - £H3R 2 -(10/21) £ EBEHE :;’51:’1;{1:'0 g
(10/21)B—REH 4 Bigs ~REEE 2 ($78) — i
e ” (1/18-1/19)55 = RERE (1/200K %
(10/21)* T E-FER HE B IR (10/23)780% 1 < B2 4948 (1527 BIX S
8 |18119(20(21)22)23 |24 (10/22)F— R IE X BB EEBET) 21 |17|18]19 |4 21|22 23 T ”gfi’_f*m""ﬁ
(10/19-10/23) 8 _R B i E (1/21-2/10)F4 [ 21 X)) ‘ =
e - FEHREA SRS - HEHEAE ( Frex &;
(10/28) 9% B30 3 oz B AR & 24125262728 | 29| 30 (1 AR e 4
9 |25(26]27|28 (293031 [l 28 BE B RS EHHE T e =1 B lsnloal 5 (1/30)% 1 BEfE R e
s - 3112/ 31412 ]° [oms2 mmeme




